
modern LIGHTING 
C O L L E C T I O N

homdeclighting.com
m a d e  i n  I n d i a



List of few installations of  
Homdec products at various locations

Secretariat (Rajasthan) Jaipur, P.W.D. Rajasthan.

Central Spine, Jaipur, J.D.A. Jaipur.

Parliament House, C.P.W.D.

Prime Minister House, C.P.W.D.

Parliament Library, C.P.W.D.

Civil Lines (Jaipur), J.D.A. Jaipur. 

National Gallery of Modern Arts, C.P.W.D.

Rajasthan High Court, Jaipur, P.W.D. Rajasthan.

Safdarjung Hospital, Delhi, C.P.W.D.

Herbal Garden, Phase-II at Rashtrapati Bhawan, C.P.W.D.

Polo Ground (Patiala) P.W.D. Punjab.

N.I.T. Kangra (H.P.) N.I.T

Telephone Exchange Building at J.L.N Marg (Minto Road) Delhi, M.T.N.L.

Red Fort Lawns, Delhi, C.P.W.D.

Jaipur Delhi Highway (Laxman Doongri Circle) Bridge Corporation.

Bhagat Singh Park, Jaipur, J.D.A. Jaipur.

C.M. Residence, Jaipur, J.D.A. Jaipur.

Sisodia Rani Garden, Jaipur, P.W.D. Rajasthan.

South Eastern Railway, Bilaspur, Indian Railway.

I.I.T. Roorkee, C.P.W.D.

Ex-Prime Minister Residence, C.P.W.D.

Parliament House Annexe, C.P.W.D.

Dalhouse square, Kolkata, Municipal.

Rambagh Circle (Jaipur) Night Beautification Project, J.D.A. Jaipur.

Karnal Central Electric Division, C.P.W.D.

Gulistan Shopping Complex Fateh Pur Sikri, C.P.W.D.

Samrat Ashok Udhyan Jodhpur, Rajasthan Housing Board.

President House, C.P.W.D.

Bharat Hotels Khajuraho, Private Sector.

The Grand Hotel Bengaluru, Private Sector.

Mansarover Hospital, P.W.D. Rajasthan.

Rajasthan High Court, J.D.A. Jaipur.

N.R.I. City, Jaipur, Rajasthan Housing Board.

Sector-23, Pratap Nagar, Jaipur, Rajasthan Housing Board.

Jhule Lal Market, Jaipur, Rajasthan Housing Board.

Khole ke Hanuman Temple, Jaipur, J.D.A. Jaipur.

Jalian Wala Bagh, Amritsar Punjab, I.T.D.C.

War Memorial, Ranikhet- The Kumaon Regiment-Ranikhet



content

Modern Pole Lights	 4

Outdoor Lighting Series	 52 

Post Top Lights	 56 

Bulkheads	 61 

Wall Lights	 66 

Ceiling Lights	 70

Step Lights	 71

Bollard Lights	 73

Outdoor Spotlights	 85

Lighting Poles	 89

Pole Brackets	 92

Installation Schematics	 95

Color Range	 102

Index	 103



Modern Pole Lights



Homdec

5

• All sizes are in mm Installation Schematics

HL - MSP-233-2319

HL - MSP-233-2319
Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, acrylic diffuser, 
silicon rubber gasket, 
anodised aluminium 
reflector, stainless steel 
screws, corrosion & U.V 
ray resistant coating.

Lamp 

70w MHL (G12 base)

Also available in  
LED

ø89

3
4

5
5

/4
4

5
5

SQ.200x10

ø525

ø525

52
0

4 HOLES Ø18.5mm

SQ.200

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

SQ
.1

6
0

ø89

3
4

5
5

/4
4

5
5

SQ.200x10

ø525

ø525

52
0

4 HOLES Ø18.5mm

SQ.200

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

SQ
.1

6
0

HL-2319

HL-2319

ø89

3
4

5
5

/4
4

5
5

SQ.200x10

ø525

ø525

52
0

4 HOLES Ø18.5mm

SQ.200

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

SQ
.1

6
0



Homdec

6

• All sizes are in mmInstallation Schematics

HL - MSP-241-2995

HL - MSP-241-2995

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

1x 70w (E-27 base)  
HPSV/MH or 45w / 65w 
CFLE (E-27 base)

Also available in  
LED

ø1003
4

2
0

/4
4

2
0

ø250x10

ø600

ø600

48
5

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50

65
ø350

5
0

0

ø1003
4

2
0

/4
4

2
0

ø250x10

ø600

ø600

48
5

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50

65
ø350

5
0

0

ø1003
4

2
0

/4
4

2
0

ø250x10

ø600

ø600

48
5

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50

65
ø350

5
0

0

HL-2995

HL-2995



Homdec

7

• All sizes are in mm Installation Schematics

HL - MSP-233-2312

HL - MSP-233-2312

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, stainless steel 
screws, corrosion & U.V 
ray resistant coating.

Lamp 

1x 70w (E-27 base)  
HPSV/MH or 45w / 65w 
CFLE (E-27 base)

Also available in  
LED

ø893
4

2
0

/4
4

2
0

SQ. 200x10

ø600
ø600

48
5

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

SQ. 300

50

60

5
0

0

SQ.200

SQ
.1

6
0

ø893
4

2
0

/4
4

2
0

SQ. 200x10

ø600
ø600

48
5

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

SQ. 300

50

60

5
0

0

SQ.200

SQ
.1

6
0

HL-2312

HL-2312

ø893
4

2
0

/4
4

2
0

SQ. 200x10

ø600
ø600

48
5

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

SQ. 300

50

60

5
0

0

SQ.200

SQ
.1

6
0



Homdec

8

• All sizes are in mmInstallation Schematics

HL - MSP-233-2316

HL - MSP-233-2316

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 
1x 70w (E-27 base) HPSV/
MH or 45w / 65w CFLE  
(E-27 base)

Also available in  
LED

ø89

3
4

2
0

/4
4

2
0

SQ.200x10

ø290
ø290

48
5

4 HOLES Ø18.5mm
SQ.200

SQ
.1

6
0

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

SQ.300

GL

50

60

5
0

0

ø89

3
4

2
0

/4
4

2
0

SQ.200x10

ø290
ø290

48
5

4 HOLES Ø18.5mm
SQ.200

SQ
.1

6
0

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

SQ.300

GL

50

60

5
0

0

ø89

3
4

2
0

/4
4

2
0

SQ.200x10

ø290
ø290

48
5

4 HOLES Ø18.5mm
SQ.200

SQ
.1

6
0

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

SQ.300

GL

50

60

5
0

0

HL-2316

HL-2316



Homdec

9

• All sizes are in mm Installation Schematics

HL-MSP-233-2305

HL-MSP-233-2305HL-MSP-233

ø290mm

4
8

5
m

m

Base I.D. 78mm

3
4

2
0

m
m

 /
 4

4
2

0
m

m

3
0

0
0

m
m

 /
 4

0
0

0
m

m

ø89mmø89mm

ø76mm

Sq. 200mmSq. 200mm

Description

Mild steel pole, cast and 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

1x 70w (E-27 base) HPSV/
MH or 45w / 65w CFLE  
(E-27 base)

Also available in  
LED

HL-2305

HL-2305

ø893
4

2
0

/4
4

2
0

SQ. 200x10

ø600
ø600

48
5

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

SQ. 300

50

60

5
0

0

SQ.200

SQ
.1

6
0



Homdec

10

• All sizes are in mmInstallation Schematics

HL - 2813

HL - 2813
Description

Mild steel pole, cast 
aluminium bracket, cast 
iron embellishments, 
cast & spun aluminium 
lighting fixture, acrylic 
diffuser, stainless steel 
screws, corrosion & U.V 
ray resistant coating

Lamp 

45w CFLE (E27 base)

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250

HL-2981

HL-2981



Homdec

11

• All sizes are in mm Installation Schematics

HL - MSP-228-2981

HL - MSP-228-2981

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, acrylic diffuser, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

45w CFLE (E27 base)

Also available in  
LED

ø60

ø114

3
3

8
0

SQ.200x10

ø350 ø350

45
0

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

SQ.300

5
0

0

GL

50

60

SQ.200

SQ
.1

6
0

ø60

ø114

3
3

8
0

SQ.200x10

ø350 ø350

45
0

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

SQ.300

5
0

0

GL

50

60

SQ.200

SQ
.1

6
0

ø60

ø114

3
3

8
0

SQ.200x10

ø350 ø350

45
0

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

SQ.300

5
0

0

GL

50

60

SQ.200

SQ
.1

6
0

HL-2981

HL-2981



Homdec

12

• All sizes are in mmInstallation Schematics

HL - MSP-233-2317

HL - MSP-233-2317

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

70w MH 
45w / 65w CFLE

Also available in  
LED

ø89

48
5

3
4

2
0

/4
4

2
0

SQ.200x10

ø600
ø600

4 HOLES 
Ø18.5mm

SQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

ø89

48
5

3
4

2
0

/4
4

2
0

SQ.200x10

ø600
ø600

4 HOLES 
Ø18.5mm

SQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

ø89

48
5

3
4

2
0

/4
4

2
0

SQ.200x10

ø600
ø600

4 HOLES 
Ø18.5mm

SQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

HL-2317

HL-2317



Homdec

13

• All sizes are in mm Installation Schematics

HL - MSP-233-2806

HL - MSP-233-2806

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

33w LED

Also available in  
LED

SQ.200x10

ø89
3

4
6

0
/4

4
6

0

ø300 ø300

52
5

4 HOLES 
Ø18.5mm

SQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

SQ.200x10

ø89

3
4

6
0

/4
4

6
0

ø300 ø300

52
5

4 HOLES 
Ø18.5mm

SQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

SQ.200x10

ø89

3
4

6
0

/4
4

6
0

ø300 ø300

52
5

4 HOLES 
Ø18.5mm

SQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

5
0

0

GL

50

60

HL-2806

HL-2806



Homdec

14

• All sizes are in mmInstallation Schematics

HL - MSP-241-2986

HL - MSP-241-2986

Description

Mild steel pole, 
aluminium lighting fixture, 
acrylic diffuser, silicon 
rubber gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

1x 70w (E-27 base) HPSV/
MH or 45w / 65w CFLE  
(E-27 base)

Also available in  
LED

ø100

3
5

0
0

/4
5

0
0

ø250x10

ø495
ø495

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø350
FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

GL

50

65

ø250

56
5

ø100

3
5

0
0

/4
5

0
0

ø250x10

ø495
ø495

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø350
FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

GL

50

65

ø250

56
5

ø100

3
5

0
0

/4
5

0
0

ø250x10

ø495
ø495

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø350
FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

GL

50

65

ø250

56
5

HL-2986

HL-2986



Homdec

15

• All sizes are in mm Installation Schematics

HL - MSP-225-2311

HL - MSP-225-2311

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, acrylic diffuser, 
silicon rubber gasket, 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

1x 70w (E-27 base) HPSV/
MH or 45w / 65w CFLE  
(E-27 base)

Also available in  
LED

ø60

ø114

58
0

3
5

3
0

/4
0

3
0

ø250x10

ø505
ø505

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

ø350

GL

50

65

ø60

ø114

58
0

3
5

3
0

/4
0

3
0

ø250x10

ø505
ø505

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

ø350

GL

50

65

ø60

ø114

58
0

3
5

3
0

/4
0

3
0

ø250x10

ø505
ø505

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

ø350

GL

50

65

HL-2311

HL-2311



Homdec

16

• All sizes are in mmInstallation Schematics

HL - 2308

HL - 2308

ø700mm

5
8

5
m

m

Base I.D. 78mm

3
5

2
0

m
m

 /
 4

5
2

0
m

m

ø114mmø114mm

ø250mm

3
0

0
0

m
m

 /
 4

0
0

0
m

m

ø250mm

ø76mm

HL-MSP-233-2308

HL-MSP-223-2308HL-MSP-223

Description

Mild steel pole, cast and 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, silicon rubber 
gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp
1x 70w/150w (E-27 base) 
MH / 70w (E-27 base) 
HPSV / 45w/65w CFLE

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

17

• All sizes are in mm Installation Schematics

HL - 2306

HL - 2306

HL-MSP-233-2306

HL-MSP-233-2306HL-MSP-233

76
0

500

Base I.D. 
78mm

3
61

0
m

m
 /

 4
61

0
m

m

3
0

0
0

m
m

 /
 4

0
0

0
m

m

ø89mmø89mm

ø76mm

Sq. 200mmSq. 200mm

Description

Mild steel pole, cast and 
spun aluminium lighting 
fixture, toughned glass, 
silicon rubber gasket, 
anodised aluminium 
reflector stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp
1x 70w (E-27 base) /150w 
(E-40 base)  HPSV/MH or  
45w CFLE

Also available in  
LED

ø893
4

2
0

/4
4

2
0

SQ. 200x10

ø600
ø600

48
5

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

SQ. 300

50

60

5
0

0

SQ.200

SQ
.1

6
0



Homdec

18

• All sizes are in mmInstallation Schematics

HL - MSP-225-2988

HL - MSP-225-2988
Description

Mild steel pole, cast  
aluminium lighting fixture, 
polycarbonate diffuser, 
silicon rubber gasket, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

20w / 30w LED

Also available in  
LED

ø114

ø603
3

8
0

/3
8

8
0

/4
3

8
0

ø250x10

ø615 ø615

4
6

0

3 HOLES Ø23mm 
ON 190mm P.C.D.

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø250

ø350

5
0

0

GL

50

65

ø114

ø603
3

8
0

/3
8

8
0

/4
3

8
0

ø250x10

ø615 ø615

4
6

0

3 HOLES Ø23mm 
ON 190mm P.C.D.

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø250

ø350

5
0

0

GL

50

65

ø114

ø603
3

8
0

/3
8

8
0

/4
3

8
0

ø250x10

ø615 ø615

4
6

0

3 HOLES Ø23mm 
ON 190mm P.C.D.

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø250

ø350

5
0

0

GL

50

65

HL - 2988

HL - 2988



Homdec

19

• All sizes are in mm Installation Schematics

HL - 2812

HL - 2812Description

Mild steel pole, mild 
steel  bracket, cast iron 
embellishments, cast & 
spun aluminium lighting 
fixture, polycarbonate 
diffuser, stainless steel 
screws, corrosion & U.V 
ray resistant coating

Lamp 

2x45w CFLE

Also available in  
LED

ø450

ø250x10

ø76

3
0

0
0

/4
0

0
0

1500

ø140

3
3

5

3 HOLES Ø23mm 
ON 190mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

6
5

GL

5
0

ø350

ø250

ø450

ø250x10

ø76

3
0

0
0

/4
0

0
0

1500

ø140

3
3

5

3 HOLES Ø23mm 
ON 190mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

6
5

GL

5
0

ø350

ø250

ø450

ø250x10

ø76

3
0

0
0

/4
0

0
0

1500

ø140

3
3

5

3 HOLES Ø23mm 
ON 190mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

0

6
5

GL

5
0

ø350

ø250

HL - 2321

HL - 2321



Homdec

20

• All sizes are in mmInstallation Schematics

HL-MSP-225-2922

ø250mm

ø114mm

ø60mm

3
4

8
0

m
m

ø250mm

ø114mm

ø60mm

3
0

0
0

m
m

HL-MSP-225-2922

HL - 2922

HL - 2922

Base ID 65mm

ø600mm

5
4

0
m

m

HL-MSP-225

Description

Mild steel pole, cast & 
spun aluminium lighting 
fixture, acrylic diffuser, 
aluminium reflector, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

1x70w HPSV/MH  
(E-27 base) or  
45w / 65w CFLE

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

21

• All sizes are in mm Installation Schematics

HL-MSP-228-2921

Sq.200mm

ø114mm

ø60mm

3
4

8
0

m
m

Sq.200mm

ø114mm

ø60mm

3
0

0
0

m
m

HL-MSP-228-2921

Base ID 65mm

ø600mm

5
4

0
m

m

HL - 2921

HL - 2921

HL-MSP-228

Description

Mild steel pole 
with cast aluminium 
embellishments, cast & 
spun aluminium lighting 
fixture, acrylic diffuser, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp
1x70w HPSV/MH 
(E-27 base) or  
45w /65w CFLE

Also available in  
LED

ø893
4

2
0

/4
4

2
0

SQ. 200x10

ø600
ø600

48
5

4 HOLES 
Ø18.5mm

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

SQ. 300

50

60

5
0

0

SQ.200

SQ
.1

6
0



Homdec

22

• All sizes are in mmInstallation Schematics

HL - 2855

HL - 2855

ø640mm

3
5

0
m

m

ø76mm

ø140mm

3
2

0
0

m
m

HL - 2835

HL - 2835

ø640mm

3
5

0
m

m

Description

Mild steel pole with  
cast iron embellishments, 
cast & spun aluminium 
fixture, stainless steel 
screws, toughened glass, 
rubber gasket, corrosion 
and U.V ray resistant 
coating.

Lamp

1x70w MHL (E-27 base)

Also available in  
LED

Note: Pole height can be increased as per requirement.

HOLE FOR 
CABLE ENTRY

SQ.PLATE 
300X300X6

5
0

0



Homdec

23

• All sizes are in mm Installation Schematics

HL-MSP-229-2972

HL-MSP-229-2972

HL - 2972

HL - 2972

HL-MSP-229

ø465mm

Base I.D. 
78mm

7
3

5
m

m

3
67

0
m

m
 /

 4
67

0
m

m

3
0

0
0

m
m

 /
 4

0
0

0
m

m

ø89mm

ø140mm

ø89mm

ø76mm

ø140mm

ø300mmø300mmDescription

Mild steel pole, cast and 
spun aluminium lighting 
fixture, acrylic diffuser, 
silicon rubber gasket, 
anodised aluminium 
reflector, stainless steel 
screws, corrosion  
and U.V ray resistant 
coating.

Lamp

1x 70w/150w(G-12 base) 
MH or  45w / 65w CFLE

Also available in  
LED

4 HOLES Ø23mm 
ON 220mm P.C.D.

ø300

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

6
0

0

ø400

GL

50

65



Homdec

24

• All sizes are in mmInstallation Schematics

HL - 2838

HL - 2838

Description

Cast aluminium pole & 
caps, acrylic /PC diffuser, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

3x36w FTL or 1x70w/150w 
MHL (G-12 Base)

Also available in  
LED

ø150

3
6

4
5

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

6
5

GL

5
0

0

ø250

ø350

ø150

3
6

4
5

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

5
0

6
5

GL

5
0

0

ø250

ø350



Homdec

25

• All sizes are in mm Installation Schematics

HL - 2963

HL - 2963

SQ.50mm

200mm

4
5

0
0

m
m

SQ.350mm

Description

Aluminium pole, 
toughened glass, 
anodised aluminium 
reflector, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x70w/150w MH  
(G-12 base)

Also available in  
LED

SQ.350

SQ
.2

6
5

4 HOLES 
Ø23mm

SQ.400 FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

6
0

0 GL

25
65



Homdec

26

• All sizes are in mmInstallation Schematics

HL - 2964

HL - 2964

SQ.300mm

SQ.190mm

4
0

0
0

m
m

Description

Mild steel pole,   
acrylic diffuser,  
stainless steel screws, 
corrosion and  
U.V ray resistant coating.

Lamp

2x36w FTL or 
1x70w/150w MH 
(G-12 base)

Also available in  
LED

6
0

0

SQ
.2

4
5

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

25
65

SQ.400

SQ.300



Homdec

27

• All sizes are in mm Installation Schematics

HL - 2955

HL - 2955

ø300mm

ø140mm

3
8

0
0

m
m

Description

Mild steel pole, cast 
aluminium caps,  
acrylic /PC diffuser, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

3x36w FTL or 1x70w/150w 
MHL (G-12 Base)

Also available in  
LED

ø400

4 HOLES Ø23mm 
ON 220mm P.C.D.

ø300

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

5
0

0

GL

50

65



Homdec

28

• All sizes are in mmInstallation Schematics

HL - 2967

HL - 2967

ø250mm

ø114mm

ø700mm

3
51

0
m

m

Description

Mild steel pole, aluminium 
lighting fixture, aluminium 
top reflector, toughened 
glass, anodised aluminium 
reflector, silicon rubber 
gasket, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x70w/150w MHL  
(G-12 base)

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

29

• All sizes are in mm Installation Schematics

HL - 2968

HL - 2968

ø250mm

ø114mm

ø700mm

3
6

0
0

m
m

Description

Mild steel pole, aluminium 
lighting fixture, aluminium 
top reflector, toughened 
glass, anodised aluminium 
reflector, silicon rubber 
gasket, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x70w/150w MHL  
(G-12 base)

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

30

• All sizes are in mmInstallation Schematics

HL - 2956

HL - 2956

ø250mm

ø114mm

150mm

775mm

3
0

0
0

 m
m

Description

Mild steel pole, aluminium 
lighting fixture, stainless 
steel screws, toughened 
glass, rubber gasket, 
corrosion and U.V ray 
resistant coating.

Lamp

2x70w MHL (G-12 base)

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

31

• All sizes are in mm Installation Schematics

HL - 2998

HL - 2998

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250

Description

Mild steel pole, aluminium 
lighting fixture, aluminium 
top reflector, toughened 
glass, anodised aluminium 
reflector, silicon rubber 
gasket, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x70w/150w MHL  
(G-12 base)

ø114

ø250x10

3
87

0



Homdec

32

• All sizes are in mmInstallation Schematics

HL-2976

HL-2976

3
8

0
0

m
m

ø140mm

1000mm

SQ.300mm

5
6

0
m

m

Description

Mild steel pole, cast 
aluminium fixture cap and 
arm, grp top reflector, 
stainless steel screws, 
toughned glass, silicon 
rubber gasket, corrosion 
and U.V ray resistant 
coating.

Lamp

1x150w HPSV/MH  
(E-40 base) + 2x36w FTL

Also available in  
LED

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75
65

5
0

0

SQ.400

SQ.300

SQ
.2

2
2



Homdec

33

• All sizes are in mm Installation Schematics

HL - 2837

HL - 2837

Also available in  
LED

ø140

1600

60
0

1600 600

3
8

0
0

ø140

3
8

0
0

3
0

0
0

WHITE

SQ.300x10 SQ.300x10

Description

Mild steel pole, cast 
aluminium fixture cap, 
mild steel arm, GRP top 
reflector, stainless steel 
screws, toughned glass, 
silicon rubber gasket, 
corrosion and U.V ray 
resistant coating.

Lamp

1x150w HPSV/MH  
(E-40 base) + 2x36w FTL

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75
65

5
0

0

SQ.400

SQ.300

SQ
.2

2
2



Homdec

34

• All sizes are in mmInstallation Schematics

HL - 2961

HL - 2961

SQ.300mm

ø140mm

ø910mm

3
4

5
0

m
m

Description

Mild steel pole, cast 
aluminium fixture,  
grp top reflector, 
stainless steel screws, 
toughened glass, silicon 
rubber gasket, corrosion 
and U.V ray resistant 
coating.

Lamp

1x150w HPSV/MHL  
(E-40 base)+2x36w FTL

Also available in  
LED

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75
65

5
0

0

SQ.400

SQ.300

SQ
.2

2
2



Homdec

35

• All sizes are in mm Installation Schematics

HL - 2971

HL - 2971

SQ.300mm

SQ.190mm

700mm

3
6

0
0

m
m

Description

Mild steel pole, grp 
top reflector, acrylic 
diffuser, toughened glass, 
anodised aluminium 
reflector, silicon rubber 
gasket, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x150w HPSV/MHL  
(E-40 base)+2x36w FTL

Also available in  
LED

6
0

0

SQ
.2

4
5

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

25
65

SQ.400

SQ.300



Homdec

36

• All sizes are in mmInstallation Schematics

ø250mm

ø114mm

ø60mm

1000mm

3
5

0
0

m
m

HL - 2970

HL - 2970

Description

Mild steel pole, grp 
top reflector, toughened 
glass, anodised aluminium 
reflector, silicon rubber 
gasket, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x70w/150w MHL  
(G-12 base)

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

37

• All sizes are in mm Installation Schematics

HL - 2969

HL - 2969

SQ. 300mm

ø140mm

1425mm

4
0

0
0

m
m

Description

Mild steel pole, cast 
aluminium fixture,  
grp top reflector, 
stainless steel screws, 
toughened glass, silicon 
rubber gasket, corrosion 
and U.V ray resistant 
coating.

Lamp

1x150w HPSV/MHL  
(E-40 base)+2x36w FTL

Also available in  
LED

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75
65

5
0

0

SQ.400

SQ.300

SQ
.2

2
2



Homdec

38

• All sizes are in mmInstallation Schematics

HL - 2825

HL - 2825

1020mm

3
0

0
0

m
m

4
2

5
0

m
m

ø140mm

SQ.300

Description

Mild steel pole, cast 
aluminium & stainless 
steel fixture, aluminium 
top reflector, stainless 
steel screws, toughened 
glass, silicon rubber 
gasket, corrosion and  
U.V ray resistant coating.

Lamp

1x150w HPSV/MHL  
(E-40 base)+2x36w FTL

Also available in  
LED

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75
65

5
0

0

SQ.400

SQ.300

SQ
.2

2
2



Homdec

39

• All sizes are in mm Installation Schematics

HL - 2100

HL - 2100

925mm

925mm

3
4

6
0

m
m

ø140mm

7
2

5
m

m
SQ.300

Description

Mild steel pole,  
cast aluminium fixture,  
grp top reflector, 
stainless steel screws, 
toughened glass, silicon 
rubber gasket, corrosion 
and U.V ray resistant 
coating.

Lamp

1x150w HPSV/MHL  
(E-40 base)+2x36w FTL

Also available in  
LED

4 HOLES 
Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75
65

5
0

0

SQ.400

SQ.300

SQ
.2

2
2



Homdec

40

• All sizes are in mmInstallation Schematics

HL-MSP-223-2975

HL-MSP-223-2975

4
0

0
0

m
m

 /
 5

0
0

0
m

m
 /

 6
0

0
0

m
m

4
2

7
0

m
m

 /
 5

2
7

0
m

m
 /

 6
2

7
0

m
m

6
0

0
m

m

496mm

ø300mm

ø114mm

HL - 2975

Description

Mild steel pole,  
aluminium lighting 
fixture, toughned glass, 
rubber gasket, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

1x 70w/150w (G-12 base) 
MH or 45w CFLE

Also available in  
LED

4 HOLES Ø23mm 
ON 220mm P.C.D.

7
5

0

GL

50

65

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

ø300

ø400



Homdec

41

• All sizes are in mm Installation Schematics

HL - 2965

HL - 2965

HL - 2326

ø250mm

ø114mm

ø305mm

3
0

0
0

m
m

Description

Mild steel pole, cast and 
spun aluminium lighting 
fixture, toughened glass, 
anodised aluminium 
reflector, silicon rubber 
gasket, stainless steel 
screws, corrosion and U.V 
ray resistant coating.

Lamp

1x70w MHL (Rx7S base)

Also available in  
LED

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

42

• All sizes are in mmInstallation Schematics

480mm

5
0

0
m

m

HL - 2960

HL - 2959

ø250mm

ø114mm

ø76mm

4
0

0
0

m
m

HL-MSP-230

1050mm

5
0

0
m

m

HL - 2959

HL - 2327

Description

Mild steel pole,  
mild steel bracket,  
cast aluminium lighting 
fixture, toughened glass, 
anodised aluminium 
reflector, rubber gasket, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp 

HL-2960: 1x70w MHL 
(Rx7S base)

Lamp HL-2959: 2x70w 
MHL (Rx7S base)

Also available in  
LED

4
0

0
0

/5
0

0
0

ø76

ø114

ø250x10

890

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

ø250

3 HOLES Ø23mm 
ON 190mm P.C.D

6
0

0

GL

65

5
0



Homdec

43

• All sizes are in mm Installation Schematics

HL - 2882

HL - 2880

HL-MSP-229

ø500mm

1510mm

ø500mm

890mm

ø300mm

ø140mm

ø89mm

ø76mm

6
0

0
0

m
m

HL - 2880

HL - 2951

Description

Mild steel pole, mild 
steel bracket, cast and 
spun aluminium lighting 
fixture, toughened glass, 
anodised aluminium 
reflector, rubber gasket, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

150w MH (G12base) 
150w HPSV (E40base)

Also available in  
LED

4 HOLES Ø23mm 
ON 220mm P.C.D.

7
5

0

GL

50

65

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

ø300

ø400



Homdec

44

• All sizes are in mmInstallation Schematics

HL - 2834

HL - 2834

HL - 2322

HL - 2322

Description

Mild steel pole, mild 
steel  bracket, cast & spun 
aluminium lighting fixture, 
polycarbonate diffuser, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating.

Lamp 

70w MH/HPSV 
45w CFLE

Also available in  
LED

ø76

ø114

3
5

0
0

/4
5

0
0

ø250x10

1100 ø450

48
5

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50
65

3HOLES ø23mm 
ON  190mm P.C.D

ø250

ø350

ø76

ø114

3
5

0
0

/4
5

0
0

ø250x10

1100 ø450

48
5

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50
65

3HOLES ø23mm 
ON  190mm P.C.D

ø250

ø350

920

ø250x10

ø76

ø140

3
6

0
0

ø350

4
5

0

3 HOLES Ø23mm 
ON 190mm P.C.D

5
0

0

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

GL

5
06

5

ø250



Homdec

45

• All sizes are in mm Installation Schematics

HL - 2824

HL - 2824

Description

Mild steel pole, mild 
steel bracket, cast and 
spun aluminium lighting 
fixture, toughened glass, 
anodised aluminium 
reflector, rubber gasket, 
stainless steel screws, 
corrosion and U.V ray 
resistant coating.

Lamp

150w MH (G12base) 
150w HPSV (E40base)

Also available in  
LED

4
0

0
0

/5
0

0
0

ø76

ø114

ø250x10

890

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

ø250

3 HOLES Ø23mm 
ON 190mm P.C.D

6
0

0

GL

65

5
0

HL - 2951

HL - 2841

4
0

0
0

/5
0

0
0

ø76

ø114

ø250x10

890

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

ø250

3 HOLES Ø23mm 
ON 190mm P.C.D

6
0

0

GL

65

5
0

ø500

1510



Homdec

46

• All sizes are in mmInstallation Schematics

HL-MSP-223-2991

HL-MSP-223-2991

HL-2991

HL-2991

Description

Mild steel pole,   
aluminium lighting fixture, 
toughned glass diffuser, 
silicon rubber gasket, 
anodised aluminium 
reflector, stainless steel 
screws, corrosion & U.V 
ray resistant coating.

Lamp 

150w MH (G12 base)

Also available in  
LED

ø114

6
0

0
0

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50

65

7
5

0

ø350

ø410

210

ø114

6
0

0
0

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50

65

7
5

0

ø350

ø410

210

ø114

6
0

0
0

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

GL

50

65

7
5

0

ø350

ø410

210



Homdec

47

• All sizes are in mm Installation Schematics

HL - MSP-223-2987

HL - MSP-223-2987

HL - 2987

HL - 2987

Description

Mild steel pole,   
aluminium lighting fixture, 
toughned glass diffuser, 
silicon rubber gasket, 
anodised aluminium 
reflector, stainless steel 
screws, corrosion & U.V 
ray resistant coating.

Lamp 

150w MH (G12 base)

Also available in  
LED

ø114
6

0
0

0

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

7
5

0

GL

50
65

320

150450

ø114
6

0
0

0

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

7
5

0

GL

50
65

320

150450

ø114

6
0

0
0

ø250x10

3 HOLES Ø23mm 
ON 190mm P.C.D.

ø250

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

ø350

7
5

0

GL

50
65

320

150450



Homdec

48

• All sizes are in mmInstallation Schematics

HL - 2883

HL - 2883

Description

Mild steel pole,mild steel  
bracket, cast & spun 
aluminium lighting fixture, 
toughned glass diffuser, 
anodised aluminium 
reflector, stainless steel 
screws, corrosion & U.V 
ray resistant coating

Lamp 

150w MH (G12base) 
150w HPSV (E40base)

Also available in  
LED

ø76

ø89

ø114

7
0

0
0

SQ.300x10

890

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

SQ.300

SQ
.2

2
2

4HOLES ø23mm

SQ.400

7
5

0
6

5

7
5

HL - 2951

HL - 2842

Ø500

1510

ø76

ø89

ø114

7
0

0
0

SQ.300x10

890

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

SQ.300

SQ
.2

2
2

4HOLES ø23mm

SQ.400

7
5

0
6

5

7
5



Homdec

49

• All sizes are in mm Installation Schematics

HL - 2831

HL - 2831

Description

Mild steel pole, mild steel  
bracket, cast aluminium 
lighting fixture, toughned 
glass diffuser, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating

Lamp 

250w MH/ HPSV  
(E40 base)

Also available in  
LED

ø89

SQ.350x15

SQ.400

ø114

ø140

7
0

0
0

/8
0

0
0

1000

4HOLES ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75

10
0

0

70

SQ.350

SQ
.2

25
ø89

SQ.350x15

SQ.400

ø114

ø140

7
0

0
0

/8
0

0
0

1000

4HOLES ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

GL

75

10
0

0

70

SQ.350

SQ
.2

25

HL - 2843

HL - 2328



Homdec

50

• All sizes are in mmInstallation Schematics

HL - 2832

HL - 2832

HL - 2328

Description

Mild steel pole, mild steel  
bracket, cast aluminium 
lighting fixture, toughned 
glass diffuser, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating

Lamp 

250w MH/ HPSV  
(E40 base)

Also available in  
LED

ø114x4.0

ø89x4.0

ø76x3.6

ø140x4.5

SQ.400

17
7

0
3

0
0

0
2

7
0

09
0

0
0

1500

25
0

4HOLES ø30mm

FOUNDATION 
BOLT SIZE 1” 
BSW 4 NOS.

10
0

0

SQ.500

GL

75
100

SQ.400x16

Ø114

Ø140

Ø89

Ø76

SQ.400X15

80
00

/9
00

0

1500



Homdec

51

• All sizes are in mm Installation Schematics

HL - 2833

HL - 2833

HL - 2328

Description

Mild steel pole, mild steel  
bracket, cast aluminium 
lighting fixture, toughned 
glass diffuser, anodised 
aluminium reflector, 
stainless steel screws, 
corrosion & U.V ray 
resistant coating

Lamp 

2x250w MH/ HPSV  
(E40 base)

Also available in  
LED

ø89x4.0

ø114x4.0

ø140x4.5

FOUNDATION 
BOLT SIZE 1” 
BSW 4 NOS.

ø76x3.6

9
0

0
0

2
7

0
0

3
0

0
0

17
7

0

SQ.400x16

1500

10
0

0

GL

75
100

4HOLES ø30mm
SQ.400

SQ.500

25
0

Ø114

Ø140

Ø89

Ø76

80
00

/9
00

0

SQ.400X15

1500



Outdoor Lighting Series



HOMDEC

HL- 2865HL- 2778

HL-2775

HL-2785

53

• All sizes are in mm

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2778 450ø 615
4x11w CFL 

1x70w HPSV/MH
62ø Cast Aluminium Base, 

Spun Aluminium Top 
Reflector, Acrylic Diffuser, 
Polycarbonate Reflectors, 
Stainless Steel Screws, 

Rubber Gasket, Corrosion 
and UV Ray Resistant 

Coating.

HL - 2775 450ø 615
4x11w CFL 

1x70w HPSV/MH
62ø

HL - 2785 450ø 550
4x11w CFL 

1x70w HPSV/MH
62ø

HL - 2865 450ø 3430
4x11w CFL 

1x70w HPSV/MH
Figure - 2

Also available in LED Series-17



HOMDEC

HL-2755 HL-2765

HL-2758 HL-2768

HL-2760 HL-2770

HL-2762 HL-2772

54

• All sizes are in mm

CODE 
NO. WIDTH HEIGHT LAMP INSTALLATION  

SCHEMATIC/BASE I.D DESCRIPTION

HL - 2755 335ø 480 1x11w CFL 52ø Cast Aluminium Base, 
Spun Aluminium Top 

Reflector, Acrylic 
Diffuser, Polycarbonate 

Reflectors, Stainless 
Steel Screws, Rubber 

Gasket, Corrosion 
and UV Ray Resistant 

Coating.

HL - 2765 450ø 620 4x11w CFL, 1x70w HPSV/MH 62ø

HL - 2758 335ø 480 1x11w CFL 52ø

HL - 2768 450ø 620 4x11w CFL, 1x70w HPSV/MH 62ø

HL - 2760 335ø 470 1x11w CFL 52ø

HL - 2770 450ø 600 4x11w CFL, 1x70w HPSV/MH 62ø

HL - 2762 335ø 470 1x11w CFL 52ø

HL - 2772 450ø 600 4x11w CFL, 1x70w HPSV/MH 62ø

Also available in LEDSeries-17



HOMDEC

HL- 1982 HL- 2984 HL- 2LPM-2982

HL-2982

HL-1980

55

• Use Lamp - Retrofit CFL • CL - Chain Length • All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2LPM-2982 600 2100 Figure - 13
Cast Aluminium Lighting 

Fixture, Stainless Steel Screws, 
Polycarbonate Diffuser, 

Corrosion & U.V. Ray Resistant 
Coating.

HL - 1982 175 195 CL-375

HL - 1980 175 280 240

HL - 2982 175 265 Figure - 50

HL - 2984 175 600 Figure - 51

Also available in LED Series-21



Post Top Lights



HOMDEC

• All sizes are in mm

Note:  HL - 2924, HL-2923, HL-2311 - Acrylic Diffuser • HL-2308, HL-2753, HL-2312 - Polycarbonate Diffuser

57

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2311 505Ø 580 70w MH/45/65w CFLE 62Ø Cast & Spun 
Aluminium Lighting 
Fixtures, Stainless 

Steel Screws, 
Corrosion and UV Ray 

Resistant Coating,  
Toughned Glass/

Acrylic/Polycarbonate 
Diffuser.

HL - 2312 600Ø 485 70w MH/45/65w CFLE 77Ø

HL - 2753 300ø 440 1x 11w CFL 52ø

HL - 2835 640ø 350 1x 70w HPSV/MH 78ø

HL - 2923 455ø 355 45w CFLE 63ø

HL - 2924 335ø 500 25/35/45w CFLE 63ø

HL - 2308 700Ø 585 70/150w MH/45/65w CFLE 78ø

HL-2924 HL-2308

HL-2923 HL- 2753

HL-2312HL-2311HL-2835

Post Top Lights



58

HOMDEC

• All sizes are in mm

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2316 290Ø 485 70w MH/45/65w CFLE 78Ø Cast & Spun 
Aluminium Lighting 
Fixtures, Stainless 

Steel Screws, 
Corrosion and UV Ray 

Resistant Coating,  
Toughned Glass/

Acrylic/Polycarbonate 
Diffuser.

HL - 2317 600Ø 485 70w MH/45/65w CFLE 78Ø

HL - 2319 525Ø 520 70w MH (G12 base) 78Ø

HL - 2806 300ø 540 33w LED 78Ø

HL - 2981 350Ø 450 45w CFLE 62Ø

HL - 2986 495Ø 565 70w MH/45/65w CFLE 78Ø

HL - 2995 600Ø 485 70w MH/45/65w CFLE 78Ø

HL-2981 HL-2806

HL-2986 HL- 2317

HL-2995 HL- 2319

HL-2316

Note:  HL - 2981,HL-2986, HL2319 - Acrylic Diffuser • HL-2806, HL-2317, HL-2316, HL-2995 - Polycarbonate Diffuser

Post Top Lights



59

HOMDEC

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2305 290ø 485 70w MH/45/65w CFLE 78ø Cast & Spun 
Aluminium Lighting 
Fixtures, Stainless 

Steel Screws, 
Corrosion and UV Ray 

Resistant Coating,  
Toughned Glass/

Acrylic/Polycarbonate 
Diffuser.

HL - 2306 500ø 760 70/150w MH/45w CFLE 78ø
HL - 2928 500ø 485 70w MH (G12 base)
HL - 2322 450ø 485 70w MH/45w CFLE -
HL - 2921 600ø 540 70w MH/HPSV/45/65w CFLE 65ø
HL - 2922 600ø 540 70w MH/HPSV/45/65w CFLE 65ø
HL - 2972 465ø 735 70/150w MH/45/65w CFLE 78ø

HL - 2988 615ø 460 20/30w LED 62ø

HL-2972 HL- 2921

HL-2922 HL-2305 HL- 2306

HL-2928 HL-2322 HL-2988

Note:  HL - 2305, HL-2322, HL2988 - Polycarbonate Diffuser • HL-2306 - Toughned Glass Diffuser  
• HL-2928, HL-2921, HL-2922, Hl-2972 - Acrylic Diffuser • HL-2988 - Cast Aluminium fixture • All sizes are in mm

Post Top Lights



60

HOMDEC

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2987 450x320 150 150w MH (G12 base) 63ø Cast & Spun 
Aluminium 

Lighting Fixtures, 
Toughned 

Glass, Anodised 
Aluminium 
Reflector, 

Stainless Steel 
Screws, Corrosion 

and UV Ray 
Resistant Coating.

HL - 2951 500ø 170 150w MH (G12 base) 52ø

HL - 2975 600 570
70/150w MH (G12 base) 

45w CFLE
78ø

HL - 2326 305ø 195 70w MH (Rx7S base) 62ø

HL - 2991 410ø 210 150w MH (G12base) 63ø

HL - 2323 205x425 65 60/85w LED 51ø

HL - 2324 140x445 60 25/45w LED 51ø

HL - 2327 225 80 70w MH (Rx7S base) 78ø

HL - 2328 295x600 190 150/250w MH/HPSV (E40 base) 65ø

HL-2987 HL-2991 HL-2323

HL-2326 HL-2327 HL- 2328

HL-2324 HL-2951 HL- 2975

Note:  HL - 2323, HL-2324 - Lenses • All sizes are in mm

Street Lights



Bulkheads



HOMDEC

62

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION

HL - 1060 205 165 120 12w CFLE/13w TC-D

Cast Aluminium Housing, CRC 
Back Plate, Stainless Steel 
Screws, Corrosion and UV 

Ray Resistant Coating, Sand 
Blasted Glass Diffuser, Rubber 

Gasket.

HL - 1065 220 220 135 18w CFLE/18w TC-D

HL - 1070 240 155 110 18w CFLE/18w TC-D

HL - 1080 265 135 100 12w CFLE/18w TC-D

HL - 1085 265 135 100 12w CFLE/18w TC-D

HL - 1088 265 135 85 12w CFLE/18w TC-D

HL - 1095 220 220 135 18w CFLE/18w TC-D

HL - 1090 220 220 135 18w CFLE/18w TC-D

HL-1060 HL-1065

HL-1070 HL-1095

HL-1080 HL-1090

HL-1088

HL-1085

Bulkheads



HOMDEC

Note: HL - 1130, HL - 1195- Cast Aluminium Back Plate

63

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION

HL - 1196 200 165 115 12w CFLE/ 13w TC-D

Cast Aluminium Housing, CRC 
Back Plate, Stainless Steel 
Screws, Corrosion and UV 

Ray Resistant Coating, Sand 
Blasted Glass Diffuser, Rubber 

Gasket.

HL - 1193 255 170 100 18w CFLE/ 18w TC-D

HL - 1170 285 170 105 18w CFLE/ 18w TC-D

HL - 1120 215 130 90 18w CFLE/ 13w TC-D

HL - 1195 275 175 100 12w CFLE/ 13w TC-D

HL - 1130 275 175 100 12w CFLE/ 13w TC-D

HL - 1160 285 165 95 18w CFLE/ 18w TC-D

HL - 1185 285 170 110 18w CFLE/ 18w TC-D

HL-1196 HL-1193

HL-1170 HL-1120

HL-1160 HL-1185

HL-1195

HL-1130

Bulkheads



64

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION
HL - 1045 215 130 95 18w CFLE/13w TC-D

Cast Aluminium Housing, CRC 
Back Plate, Stainless Steel 
Screws, Corrosion and UV 

Ray Resistant Coating, Sand 
Blasted Glass Diffuser, Rubber 

Gasket.

HL - 1191 245 165 100 18w CFLE/18w TC-D
HL - 1198 245 160 90 18w CFLE/18w TC-D
HL - 1055 215 130 95 18w CFLE/13w TC-D
HL - 1145 285 165 110 18w CFLE/18w TC-D
HL - 1199 245 165 100 18w CFLE/18w TC-D
HL - 1140 285 170 110 18w CFLE/18w TC-D
HL - 1190 245 165 100 18w CFLE/18w TC-D
HL - 1192 215 130 90 18w CFLE/13w TC-D
HL - 1197 160 245 100 18w CFLE/18w TC-D
HL - 1194 130 215 90 18w CFLE/13w TC-D
HL - 1115 130 215 90 18w CFLE/13w TC-D

HOMDEC

HL-1045 HL-1191 HL- 1198

HL-1055 HL-1145 HL - 1199

HL-1140 HL-1190 HL- 1192

HL-1197 HL-1194 HL- 1115

Bulkheads



65

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION

HL - 1205 175 225 225 12w CFLE/ 18 w TC-D

Cast Aluminium Housing, CRC 
Back Plate, Stainless Steel 
Screws, Corrosion and UV 

Ray Resistant Coating, Sand 
Blasted Glass Diffuser, Rubber 

Gasket.

HL - 1208 165 210 200 18w CFLE/ 18 w TC-D

HL - 1201 165 210 210 18w CFLE/ 18 w TC-D

HL - 1180 175 225 225 12w CFLE/ 18 w TC-D

HL - 1200 165 210 210 18w CFLE/ 18 w TC-D

HL - 1051 215 235 135 12w CFLE/ 13 w TC-D

HL - 1052 215 235 135 12w CFLE/ 13 w TC-D

HL - 1053 215 235 125 12w CFLE/ 13 w TC-D

HL - 1054 215 235 125 12w CFLE/ 13 w TC-D

HOMDEC

HL-1205 HL-1208 HL- 1051

HL-1201 HL-1180 HL- 1052

HL-1200 HL-1053 HL- 1054

Bulkheads



Wall Lights



67

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION

HL - 1015 150 195 205 12w CFLE

Cast Aluminium Housing, 
Stainless Steel Screws, 
Corrosion and UV Ray 

Resistant Coating, Sand 
Blasted Glass Diffuser, Rubber 

Gasket.

HL - 1056 100 185 100 12w CFLE

HL - 1075 200 270 270 18w CFLE

HL - 1222 310 205 195 12w CFLE

HL - 1260 100 245 185 1x18w TC-D

HL - 1261 100 245 185 1x18w TC-D

HL - 1265 100 220 185 1x18w TC-D

HL - 1266 100 220 185 1x18w TC-D

HOMDEC

Note: HL-1260, HL-1261, HL-1265, HL-1266 - Polycarbonate Diffuser, Anodised Aluminium Reflector.

HL-1075 HL-1015

HL-1266 HL-1261

HL-1265 HL-1260

HL-1222

HL-1056

Wall Lights



68

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION

HL - 1019 63 310 125 1x18w CFL

Cast Aluminium Housing, 
Stainless Steel Screws, 
Corrosion and UV Ray 

Resistant Coating.

HL - 1021 260 260 90 2x18w/26w CFL

HL - 1041 265Ø - 130 1x18w TC-D CFL

HL - 1042 355 75 90 1x18w CFLE

HL - 1219 150ø 250 215 1x70w MH

HL - 1220 100Ø 295 165 2x6w LED (GU-10)

HL - 3095 125ø 215 290 1x70w MH

HOMDEC

HL-1219HL-1220 HL-1219

HL-3095 HL-1019

HL-1041 HL-1042HL-1021

Note: HL-1042, HL-1220 - Polycarbonate Diffuser • HL-1219, HL-3095, Hl-1220 -  Toughned Glass Diffuser 
• HL-1019, HL-1021, HL-1041 - Acrylic Diffuser

Wall Lights



69

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION

HL - 1216 88Ø 265 150 2xPAR 20 50w

Aluminium Lighting Fixture, 
Toughned Glass Diffuser, 
Silicon Rubber Gasket, 
Stainless Steel Screws, 

Corrosion & U.V Ray Resistant 
Coating.

HL - 1217 88ø 170 150 1xPAR 20 50w

HL - 1223 60ø 210 100 2xLED, GU-10

HL - 1224 60ø 110 100 1xLED, GU-10

HL - 1226 150ø 230 215 1xPAR 30 75w

HL - 1227 88x88 255 115 2xLED, GU-10

HL - 1228 88x88 135 118 1xLED, GU-10

HL - 1231 80ø 260 105 2xLED, GU-10

HL - 1232 80ø 135 105 1xLED, GU-10

HOMDEC

HL-1216 HL-1223 HL-1227

HL-1217 HL-1224 HL-1228

HL-1231 HL-1232 HL-1226

Note: HL-1223, HL-1224 - Stainless Steel Body

Wall Lights



70

• All sizes are in mm

CODE NO. WIDTH HEIGHT EXTENSION LAMP DESCRIPTION
HL - 4001 185ø - 22 1x13w TC-D

CRCA Housing, Corrosion 
Resistant Powder Coating, 

Sand Blasted Glass Diffuser.

HL - 4002 205ø - - 1x35/70w MH (G-12Base)
HL - 4005 250ø - 90 18w CFLE / 18w TC-D
HL - 4006 260ø - 85 1x18w TC-D
HL - 4007 305ø - 85 2x 18w TC-D
HL - 4015 315ø - 75 18w CFLE / 18w TC-D
HL - 4019 100Ø 275 - 1xLED (GU-10)
HL - 4020 88Ø 145 - 6w LED (GU-10)

Note- HL-4006/4007/4001- Acrylic Diffuser, HL-4001 Recess Depth-75, HL-4002 Recess Depth-150
• HL-4019 - 165 Base Dia., HL-4020 - 110 Base Dia. • HL-4019, HL-4020, HL-4002 - Aluminium Body, Toughned Glass Diffuser

ø150mm

224

Ceiling cut hole ø178mm

Ceiling
C.G.Box

ø206

ø206

15
0

HOMDEC

HL-4001 HL-4006 HL-4005

HL-4015HL-4007HL-4019

HL-4002 HL-4020

Ceiling Lights



71

• All sizes are in mm

HOMDEC

Note: HL-1164, HL-1154 - CRC Housing • HL-1173, HL-1174,HL-1164- Acrylic Diffuser 
• HL-1164 CRC Lighting Fixture • HL-1164 for Indoor use only.

Step Lights

HL-1219HL-1154 with Housing HL-1151 with Housing

HL-1154 HL-1151

HL-1173 HL-1174HL-1164

CODE NO. WIDTH HEIGHT EXTENSION RECESS 
DEPTH LAMP DESCRIPTION

HL - 1164 220 220 - 100 18w CFLE Cast Aluminium Lighting 
Fixtures, Stainless Steel 
Screws,Glass Diffuser, 
Corrosion and UV Ray 

Resistant Coating, 
Rubber Gasket.

HL - 1173 220 195 18 85 1x26w TC-D

HL - 1174 220 195 70 85 1x26w TC-D

HL - 1151 270 145 25 70 18w CFLE / 18w TC-D

HL - 1154 215 135 25 45 18w CFLE / 13w TC-D



72

HOMDEC
Step Lights

HL-1219HL-1156 HL-1153

HL-1158 HL-1159

HL-1178 HL-1179HL-1177

CODE NO. WIDTH HEIGHT EXTENSION RECESS 
DEPTH LAMP DESCRIPTION

HL - 1153 270 145 25 70 18w CFLE / 18w TC-D Cast Aluminium 
Lighting Fixtures, 
Stainless Steel 
Screws,Glass 

Diffuser, Corrosion 
and UV Ray 

Resistant Coating, 
Rubber Gasket.

HL - 1156 215 135 25 45 18w CFLE / 13w TC-D

HL - 1158 225 125 15 65 1x18w TC-D

HL - 1159 225 125 36 65 1x18w TC-D 

HL - 1177 270 145 25 70 18w CFLE / 18w TC-D

HL - 1178 260 75 10 93 1x18w TC-D

HL - 1179 260 75 10 93 1x18w TC-D

Note: HL-1156 - CRC Housing
• All sizes are in mm



Bollard Lights



HOMDEC

Note-HL-2272/2273/2274- Mild Steel Body, HL-2294/2281/2271/2299- Aluminium Body,  
HL-2294/2271/2272/2274-Polycarbonate Diffuser, HL-2281- Acrylic Diffuser, HL-2299-Toughened Glass

74

• All sizes are in mm

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 2271 190x190 600/1090
1x 26w TC-D CFL  

or 1x35w MH (G-12 Base)
Figure-31

Stainless 
Steel Screws, 
Corrosion and 

UV Ray Resistant 
Coating.

HL - 2272 145x145 245/600 1x18w CFLE Figure-33
HL - 2273 100x100 825 11w CFL (Innova) Figure-30
HL - 2274 145x145 245/600 1x18w CFLE Figure-33
HL - 2281 ø190 800 1x20w Retrofit CFL Figure-34

HL - 2294  ø270 225
1x18/26w TC-D CFL or 42w 
CFL or 35w MH (G-12 Base) 

Figure-32

HL - 2299 ø295 580
1x35w MH (G-12 Base) or  

1xpar 30 or 1x20w Retrofit CFL
Figure-34

HL-2294 HL-2281

HL-2272

HL-2274 HL-2273 HL-2271 HL-2299

Bollard Lights



HOMDEC

A B

Note: HL-2285- CRC Stand with Cast Aluminium Base & Top, HL- 2295 A, HL- 2295 B - Mild Steel Pole & Polycarbonate Diffuser
• HL-2254 - GRP Body & Polycarbonate Diffuser.

75

• All sizes are in mm

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 2252 350Ø 1025 70w MH/35w CFLE Figure - 27 Aluminium 
Lighting Fixtures, 

Stainless 
Steel Screws, 
Corrosion and 

UV Ray Resistant 
Coating, Acrylic 

Diffuser.

HL - 2254 125Ø 910 18/23/35w CFLE Figure - 47
HL - 2267 350Ø 1000 70w MH/35w CFLE Figure - 27

HL - 2285 205 690 1x20w Retrofit CFL Figure - 19
HL - 2295 A 120ø 750 1x18w TC-D Figure - 20
HL - 2295 B 120ø 1000 1x18w TC-D Figure - 20
HL - 2296 235 555 1x26w TC-D Figure - 21
HL - 2297 235 555 1x26w TC-D Figure - 21

HL-2267 HL-2252 HL-2295 A, HL-2295 B

HL-2285 HL-2296 HL-2297 HL-2254

Bollard Lights



76

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT EXTENSION LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 1LP 1180 175 1025 295 1x12w CFLE /18w TC-D Figure - 17 Cast Aluminium 
Lighting Fixtures, 

Extruded Aluminium 
Pole, Stainless Steel 
Screws, Corrosion 

and UV Ray Resistant 
Coating, Sand Blasted 
Glass Diffuser, Rubber 

Gasket.

HL - 2LP 1180 490 1025 175 2x12w CFLE /18w TC-D Figure - 17

HL - 1LP 1201 165 1000 285 1x18w CFLE /18w TC-D Figure - 17

HL - 2LP 1201 460 1000 165 2x18w CFLE /18w TC-D Figure - 17

HL - 1LP 1205 175 1025 295 1x12w CFLE /18w TC-D Figure - 17

HL - 2LP 1205 490 1025 175 2x12w CFLE /18w TC-D Figure - 17

HL - 1LP 1180 HL - 2LP 1180

HL - 1LP 1201 HL - 2LP 1201 HL - 1LP 1205 HL - 2LP 1205

Bollard Lights



77

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT EXTENSION LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 1LP 1200 165 1000 285 1x18w CFLE /18w TC-D Figure - 17 Cast Aluminium 
Lighting Fixtures, 

Extruded Aluminium 
Pole, Stainless Steel 
Screws, Corrosion 

and UV Ray Resistant 
Coating, Sand Blasted 
Glass Diffuser, Rubber 

Gasket.

HL - 2LP 1200 460 1000 165 2x18w CFLE /18w TC-D Figure - 17

HL - 1LP 1208 165 1000 280 1x18w CFLE /18w TC-D Figure - 17

HL - 2LP 1208 435 1000 165 2x18w CFLE /18w TC-D Figure - 17

HL - 1LP 1053 215 930 205 1x12w CFLE /13w TC-D Figure - 17

HL - 2LP 1053 215 930 300 2x12w CFLE /13w TC-D Figure - 17

HL - 1LP 1054 215 930 205 1x12w CFLE /13w TC-D Figure - 17

HL - 2LP 1054 215 930 300 2x12w CFLE /13w TC-D Figure - 17

HL - 1LP 1200 HL - 2LP 1200 HL - 1LP 1208 HL - 2LP 1208

HL - 1LP 1053 HL - 2LP 1053 HL - 1LP 1054 HL - 2LP 1054

Bollard Lights



78

• All sizes are in mm

HOMDEC

Note:  HL-2090 A, HL-2090 B - Mild Steel Pole & Base, CRC Back Plate

CODE NO. WIDTH HEIGHT EXTENSION LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 1LP 1051 215 930 210 1x12w CFLE /13w TC-D Figure - 17 Cast Aluminium 
Lighting Fixtures, 

Extruded Aluminium 
Pole, Stainless Steel 
Screws, Corrosion 

and UV Ray Resistant 
Coating, Sand Blasted 
Glass Diffuser, Rubber 

Gasket.

HL - 2LP 1051 215 930 315 2x12w CFLE /13w TC-D Figure - 17

HL - 1LP 1052 215 930 210 1x12w CFLE /13w TC-D Figure - 17

HL - 2LP 1052 215 930 315 2x12w CFLE /13w TC-D Figure - 17

HL - 2090 A 220 410 175 1x18w CFLE /18w TC-D Figure - 16

HL - 2090 B 220 965 175 1x18w CFLE /18w TC-D Figure - 16

HL - 1LP 1052 HL - 2LP 1052

HL - 1LP 1051 HL - 2LP 1051 HL - 2090A HL -  2090B

Bollard Lights



79

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT EXTENSION LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 2092 A 220 410 310 2x18w CFLE /18w TC-D Figure - 16
Cast Aluminium 

Housing, Mild Steel 
Pole & Base, CRC 

Back Plate, Stainless 
Steel Screws, 

Corrosion and UV Ray 
Resistant Coating, 

Rubber Gasket.

HL - 2092 B 220 965 310 2x18w CFLE /18w TC-D Figure - 16

HL - 2060 A 205 405 145 1x12w CFLE /13w TC-D Figure - 16

HL - 2060 B 205 960 145 1x12w CFLE /13w TC-D Figure - 16

HL - 2062 A 205 405 260 2x12w CFLE /13w TC-D Figure - 16

HL - 2062 B 205 960 260 2x12w CFLE /13w TC-D Figure - 16

HL - 2068 A 220 410 310 2x18w CFLE /18w TC-D Figure - 16

HL - 2068 B 220 965 310 2x18w CFLE /18w TC-D Figure - 16

HL - 2092A HL - 2092B HL - 2060A HL - 2060B

HL - 2062A HL - 2062B HL - 2068A HL - 2068B

Bollard Lights



80

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT EXTENSION LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 2065A 220 410 175 1x18w CFLE /18w TC-D Figure- 16 Cast Aluminium 
Housing, Mild Steel 
Pole & Base, CRC 

Back Plate, Stainless 
Steel Screws, 

Corrosion and UV Ray 
Resistant Coating, 

Rubber Gasket.

HL - 2065B 220 965 175 1x18w CFLE /18w TC-D Figure- 16

HL - 2095A 220 410 175 1x18w CFLE /18w TC-D Figure- 16

HL - 2095B 220 965 175 1x18w CFLE /18w TC-D Figure- 16

HL - 2098A 220 410 310 2x18w CFLE /18w TC-D Figure- 16

HL - 2098B 220 965 310 2x18w CFLE /18w TC-D Figure- 16

HL - 2095A HL - 2095B

HL - 2065A HL - 2065B HL - 2098A HL - 2098B

Bollard Lights



81

• All sizes are in mm

HOMDEC

Note: HL - 2250 A, HL - 2250 B & HL - 2220 A, HL - 2220B - Mild Steel Pole

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2210 165ø 245 18w CFLE 51ø

Cast Aluminium Lighting 
Fixtures, Stainless Steel 
Screws, Polycarbonate 

Diffuser, Anodised 
Aluminium Reflectors, 
Corrosion and UV Ray 

Resistant Coating.

HL - 2215 165ø 265 18w CFLE /18w TC-D Figure - 26
HL - 2220 A 165ø 460 18w CFLE /18w TC-D/70w MHL Figure - 24
HL - 2220 B 165ø 765 18w CFLE /18w TC-D/70w MHL Figure - 24
HL - 2225 165ø 315 18w CFLE /18w TC-D 67ø
HL - 2230 165ø 205 18w CFLE Figure - 25
HL - 2235 165ø 290 18w CFLE /18w TC-D 67ø
HL - 2240 165ø 220 18w CFLE 51ø
HL - 2245 165ø 180 18w CFLE Figure - 25

HL - 2250 A 165ø 435 18w CFLE /18w TC-D/70w MHL Figure - 24
HL - 2250 B 165ø 740 18w CFLE /18w TC-D/70w MHL Figure - 24
HL - 2255 165ø 240 18w CFLE /18w TC-D Figure -26
HL - 2290 100 340 1X18w TC-D 52ø
HL - 2291 100 340 1X18w TC-D 52ø

HL-2255 HL-2290 HL-2291 HL-2210

HL-2245 HL-2225 HL-2235 HL-2240

HL-2215 HL-2250 A, B HL-2220 A,B

HL-2230

Bollard Lights



82

• All sizes are in mm

HOMDEC

Note: HL-2260,HL-2261,HL-2265,HL-2266,HL-2257- Polycarbonate Diffuser and Reflectors. 

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 2257 270ø 240
1x18w/26w TC-D CFL or 42w CFL or 

35w MH (G12 base)
Figure -32

Aluminium Lighting 
Fixtures, Stainless 

Steel Screws, Glass 
Diffuser, Corrosion 

and UV Ray Resistant 
Coating.

HL - 2260 100ø 480/630 1x18w TC-D Figure -27

HL - 2261 100ø 480/630 1x18w TC-D Figure -27

HL - 2265 100ø 455/605 1x18w TC-D Figure -27

HL - 2266 100ø 455/605 1x18w TC-D Figure -27

HL - 2298 300 600/930 1xPAR 20/GLS/ 1x35wMH Figure -44

HL - 2916 190x100 920 1xPAR 20/20w Retrofit CFL Figure -53

HL-2298 HL-2916

HL-2260 HL-2261 HL-2265 HL-2266 HL-2257

Bollard Lights



83

• All sizes are in mm

HOMDEC

Note: HL-2286 - Acrylic Diffuser.

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC/BASE I.D DESCRIPTION

HL - 2286 340ø 755 20w CFLE Figure-49 Aluminium Lighting 
Fixture, Stainless Steel 
Screws, Polycarbonate 

Diffusers, Corrosion 
and UV Ray Resistant 

Coating.

HL - 2287 170ø 780 1x18w TC-D Figure-27

HL - 2288 170ø 345 1x18w TC-D Base ID- 52ø

HL - 2289 170ø 760 1x18w TC-D Figure-27

HL - 2292 170ø 325 1x18w TC-D Base ID- 52ø

HL-2286

HL-2288 HL-2287 HL-2289 HL-2292

Bollard Lights



84

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT LAMP INSTALLATION  
SCHEMATIC DESCRIPTION

HL - 2251 Ø100 460/610 6w LED Figure -27

Aluminium Lighting 
Fixtures, Stainless 

Steel Screws, Glass 
Diffuser, Corrosion 

and UV Ray Resistant 
Coating.

HL - 2256 Ø165 1000 35/70 w MH Figure -46

HL - 2269 Ø230 505 18w CFLE -

HL - 2277 260 1010 35/70 w MH Figure -44

HL - 2278 Ø165 490/790 18/23w CFLE Figure -24

HL - 2980 200 1200 35/70 w MH Figure -45

HL - 2997 Ø140 815 18w CFL TC-L/26w TC-D Figure -24

HL-2277 HL-2980

HL-2251 HL-2256 HL-2269 HL-2997 HL-2278

Note: HL-2251,HL-2256,HL-2278 - Polycarbonate Diffuser • HL-2256,HL-2997,HL-2278 - Mild Steel Column  
• HL-2269,HL-2997 - Acrylic Diffuser

Bollard Lights



Outdoor Spotlights



86

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT LAMP DESCRIPTION
HL - 3020 70ø - 1xPar 38, 75w

Cast Aluminium Lighting 
Fixtures, Corrosion and 

UV Ray Resistant Coating, 
Toughened Glass, Rubber 

Gasket, Stainless Steel 
Screws.

HL - 3025 70ø - 1xPar 38, 75w

HL - 3055 130ø - 1xPar 38, 75w

HL - 3064 95ø - 1x LED (GU-10 base)

HL - 3091 100ø - 1x LED (GU-10 base)

HL - 3092 100ø - 1x LED (GU-10 base)

HL - 3107 100ø - 1x LED (GU-10 base)

HL - 3116 125ø - 35/70w MH (G-12 base) / LED

HL - 3117 127ø - 1xPAR 20 Halogen (E-27 base)

HL-3025 HL-3092 HL-3064

HL-3117HL-3091HL-3020

HL-3116 HL-3055 HL-3107

Note: HL-3025,HL-3020,HL-3055 - No Glass

Outdoor Spotlights



87

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT LAMP DESCRIPTION
HL - 3005 115ø - 12w CFLE

Spun Aluminium Housing,  
Corrosion and UV Ray 

Resistant Coating, 
Toughened Glass,  

Silicon Rubber Gasket,  
Stainless Steel Screws.

HL - 3010 145ø - 18w CFLE

HL - 3015 185ø - 23w CFLE

HL - 3035 145ø - 18w CFLE

HL - 3030 115ø - 12w CFLE

HL - 3040 185ø - 23w CFLE

HL - 3050 145ø - 18w CFLE

HL-3005 HL-3035

HL-3010 HL-3040

HL-3015 HL-3030

HL-3050

Outdoor Spotlights



88

• All sizes are in mm

HOMDEC

CODE NO. WIDTH HEIGHT LAMP DESCRIPTION
HL - 3087 120 240 B.Width 1x70/150w MHL/(G12 base)

Cast Aluminium Lighting 
Fixtures, Corrosion 

and UV Ray Resistant 
Coating, Toughened 

Glass, Rubber Gasket, 
Stainless Steel Screws.

HL - 3096 125ø 240ø B.Width 1x35w/70w MH (G12 base) or 1xPAR 30(E27 base)

HL - 3111 125ø - 1x35w/70w MH (G-12 base)

HL - 3112 125ø - 1xPAR 30 (E-27 base) 75w

HL - 3118 - - 1x70w/150w MHL (Rx7S base)

HL - 3119 - - 1x250w/400w HPSV/MHL (E-40 base)

HL - 3120 - - 1x250w/400w HPSV/MHL (E-40 base)

HL - 3126 290ø 255 70w/150w MH (G12 base)

HL - 3127 115ø LED (GU-10 base)

HL-3126 HL-3127 HL- 3096

HL-3118 HL-3120 HL-3119

HL-3111 HL-3112 HL-3087

Note: HL-3127 - Stainless Steel Top Ring

Outdoor Spotlights



Lighting Poles



* Height of pole can be changed according to customer’s requirements.

Note-HL-MSP-214/HL-MSP-228- Cast Aluminium Embellishments

HOMDEC

HL-MSP-225/229 HL-MSP-232 HL-MSP-228 HL-MSP-209 HL-MSP-214

90

CODE NO. HEIGHT INSTALLATION SCHEMATICS DESCRIPTION

HL - MSP-225 2500/3000/3500 Figure- 2

Mild Steel Poles, Corrosion  
and UV  Ray Resistant Coating

HL - MSP 229 2925/3925/4925/6000 Figure - 36

HL - MSP-232 2500/3000/3650 Figure - 7

HL - MSP-228 2350/3000/3500 Figure - 7

HL - MSP - 209 2440/3000/3650 Figure - 7

HL - MSP - 214 2425/2925 Figure - 2

• All sizes are in mm

Lighting Poles



* Height of pole can be changed according to customer’s requirements.

Note-HL-MSP-244 - Cast Aluminium Embellishments

HOMDEC

HL-MSP-223/233/241 HL-MSP-244 HL-MSP-248

HL-MSP-249 HL-MSP-250

91

CODE NO. HEIGHT INSTALLATION SCHEMATICS DESCRIPTION

HL-MSP-223 3000/4000/5000/6000 Figure - 2

Mild Steel Pole, Corrosion & U.V 
Ray Resistant Coating.

HL-MSP-233 3000/4000 Figure - 7

HL-MSP-241 3000/4000 Figure - 2

HL-MSP-244 2500/3000/3500 Figure - 2

HL-MSP-248 3000/4000/4500 Figure - 2

HL-MSP-249 5000/6000/7000 Figure - 4

HL-MSP-250 6000/7000/8000 Figure - 41

• All sizes are in mm

Lighting Poles



92

Pole Brackets

HL-PBKT-102-1

WIDTH HEIGHT

590 500

HL-PBKT-102-2

WIDTH HEIGHT

1150 500

HL-PBKT-108-1

WIDTH HEIGHT

1100/1600 1100

HL-PBKT-108-2

WIDTH HEIGHT

2150/3150 1100

HL-PBKT-120-1

WIDTH HEIGHT

1000/1500 1100

HL-PBKT-120-2

WIDTH HEIGHT

2000/3000 1100

Pole Brackets
HOMDEC

• All sizes are in mm



93

HL-PBKT-121-1

WIDTH HEIGHT

1000/1500 1100

HL-PBKT-121-2

WIDTH HEIGHT

2000/3000 1100

HL-PBKT-126-1

WIDTH HEIGHT

1000/1500 1000

HL-PBKT-126-2

WIDTH HEIGHT

2000/3000 1000

HL-PBKT-128-1

WIDTH HEIGHT

1000/1500 1000

HL-PBKT-128-2

WIDTH HEIGHT

2000/3000 1000

HL-PBKT-129-1

WIDTH HEIGHT

1000/1500 1100

HL-PBKT-129-2

WIDTH HEIGHT

2000/3000 1100

HL-PBKT-130-1

WIDTH HEIGHT

1000/1500 1100

HL-PBKT-130-2

WIDTH HEIGHT

2000/3000 1100

HL-PBKT-134-1

WIDTH HEIGHT

1000/1500 1100

HL-PBKT-134-2

WIDTH HEIGHT

2000/3000 1100

HOMDEC
Pole Brackets

• All sizes are in mm



94

HL-PBKT-140-1

WIDTH HEIGHT

750 600

HL-PBKT-140-2

WIDTH HEIGHT

1500 600

HL-PBKT-141-1

WIDTH HEIGHT

375 200

HL-PBKT-141-2

WIDTH HEIGHT

675 200

HL-PBKT-142-1

WIDTH HEIGHT

590 250

HL-PBKT-142-2

WIDTH HEIGHT

1080 250

HL-PBKT-143-1

WIDTH HEIGHT

1000/1500 300

HL-PBKT-143-2

HL-PBKT-145-1

WIDTH HEIGHT

2000/3000 300

WIDTH HEIGHT

300 300

HL-PBKT-144-1

HL-PBKT-145-2

WIDTH HEIGHT

1500 1530

WIDTH HEIGHT

510 300

HL-PBKT-144-2

WIDTH HEIGHT

3000 1530

Pole Brackets
HOMDEC

• All sizes are in mm



Installation Schematics



• Minimum Length of the foundation bolt = 1/6 of the total height of the pole above the ground.

DEPTH OF THE POLE BELOW GROUND MAY 
VARY WITH THE CHANG IN HEIGHT OF THE 

POLE ABOVE GROUND

HL-2270: Depth Below Ground = 300mm

Figure-01

Figure-04

Figure-07

Figure-02

Figure-05

Figure-08

Figure-03

Figure-06

Figure-09

HOLE FOR 
CABLE ENTRY

SQ.PLATE 
300X300X6

5
0

0

3 HOLES Ø23mm ON 
190mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 3 NOS.

Ø250

GL

50

65

Ø350

4 HOLES Ø30mm

FOUNDATION 
BOLT SIZE 1” 
BSW 4 NOS.

110

GL

75

SQ.470

SQ.370

SQ
.2

8
8

4 HOLES Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

SQ.300

SQ.400

SQ
.2

2
2

65

GL

75

4 HOLES Ø23mm 
ON 376mm P.C.D

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

Ø530

306

21
8

75

70

GL

Ø430

4 HOLES Ø18.5mm 
ON 395mm P.C.D.

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.45

GL

50

ø530

ø430

4 HOLES Ø18.5mmSQ.200

SQ
.1

6
0

SQ.300
FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

55

GL

50

4 HOLES Ø18.5mm 
ON 245mm P.C.D.

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

65

GL

50

405

305

3 HOLES Ø16mm 
ON 168mm P.C.D.

FOUNDATION 
BOLT SIZE 1/2” 
BSW 3 NOS.

45

GL

50

225

173

• All sizes are in mm

96

Installation Schematics
HOMDEC



• Minimum Length of the foundation bolt = 1/6 of the total height of the pole above the ground.

Figure-10

Figure-13

Figure-16

Figure-11

Figure-14

Figure-17

Figure-12

Figure-15

Figure-18

3 HOLES Ø12mm 
ON 142mm P.C.D.

FOUNDATION 
BOLT SIZE 3/8” 
BSW 3 NOS.

35

GL

25

ø230

ø180

35

GL

25

2 HOLES Ø12mm 
ON 115mm P.C.D.

ø145

FOUNDATION 
BOLT SIZE 3/8” 
BSW 2 NOS.

ø200

3 HOLES Ø12mm 
ON 196mm P.C.D.

ø230

FOUNDATION 
BOLT SIZE 3/8” 
BSW 3 NOS.

ø300

35

GL

50

3 HOLES Ø8mm 
ON 168mm P.C.D.

ø185

FOUNDATION 
BOLT SIZE 1/4” 
BSW 3 NOS.ø240

25

GL

25

SQ.123

SQ
.9

0

FOUNDATION 
BOLT SIZE 1/4” 
BSW 4 NOS.

25

GL

25

SQ.180

4 HOLES Ø8mm

SQ.150

SQ
.1

3
0

4 HOLES Ø8mm

SQ.200

25

GL

25

FOUNDATION 
BOLT SIZE 1/4” 
BSW 4 NOS.

240

11
0

8
5

4 HOLES Ø10mm

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

215

290x160

20

GL

25

220x160

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

4 HOLES Ø10mm

30

GL

25

165

143

10
8

8
8

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

25

GL

25

4 HOLES Ø10mm

300x240

174

204

252

19
2

14
4

• All sizes are in mm

97

HOMDEC
Installation Schematics



• Minimum Length of the foundation bolt = 1/6 of the total height of the pole above the ground.

Figure-19

Figure-22

Figure-25

Figure-20

Figure-23

Figure-26

Figure-21

Figure-24

Figure-27

2 HOLES Ø10mm

FOUNDATION 
BOLT SIZE 5/16” 
BSW 2 NOS.

275x190

35

GL

25

203

225

14
2

2 HOLES Ø10mm 
ON 57mm P.C.D.

ø112

ø160

FOUNDATION 
BOLT SIZE 5/16” 
BSW 2 NOS.

20

GL

25

290x220

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

GL

25
25

183

240

4 HOLES Ø10mm

14
5

17
0

4 HOLES Ø10mm 
ON 160mm P.C.D.

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

ø230

GL

25
20

ø182

SQ.100

SQ.150

FOUNDATION 
BOLT SIZE 1/4” 
BSW 4 NOS.

GL

25

15

4 HOLES Ø8mm

SQ
.7

5

4 HOLES Ø10mm 
ON 186mm P.C.D.

ø205

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

25

GL

20

ø260

ø260

GL

2515

4 HOLES Ø8mm 
ON 186mm P.C.D.

ø205

FOUNDATION 
BOLT SIZE 1/4” 
BSW 4 NOS.

4 HOLES Ø6mm 
ON 177mm P.C.D.

SLOTTED CSK 
SCREW SIZE 1/4” 
BSW 4 NOS.

GL

25

ø190

ø240

2 HOLES Ø10mm 
ON 52mm P.C.D.

ø100

FOUNDATION 
BOLT SIZE 5/16” 
BSW 2 NOS.

20

GL

25

ø150

• All sizes are in mm

98

Installation Schematics
HOMDEC



• Minimum Length of the foundation bolt = 1/6 of the total height of the pole above the ground.

Figure-28

Figure-31

Figure-34

Figure-29

Figure-32

Figure-35

Figure-30

Figure-33

Figure-36

SQ.140 4 HOLES Ø8mm

FOUNDATION 
BOLT SIZE 1/4” 
BSW 4 NOS.

SQ.190

SQ
.1

10

GL

25

30

SQ.170

FOUNDATION 
BOLT SIZE 1/4” 
BSW 4 NOS.

GL

25

30

4 HOLES Ø8mmSQ.118

SQ
.9

0

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

GL

2520

130X150

80

37
4 HOLES Ø10mm

10
0

5
0

SQ.190

4 HOLES Ø12mm

FOUNDATION 
BOLT SIZE 3/8” 
BSW 4 NOS.

9
5

95

SQ.240

GL

25
20

3 HOLES Ø6mm 
ON 278mm P.C.D

ø270

FOUNDATION 
BOLT SIZE 3/16” 
BSW 3 NOS.

ø320

GL

2520

FOUNDATION 
BOLT SIZE 5/16” 
BSW 2 NOS.

SQ.180

GL

2520

2 HOLES Ø10mm

132

100

13
2

4 HOLES Ø10mm 
ON 182mm P.C.D.

ø205

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

ø250

GL

25
30

SQ
.1

8
5

4 HOLES Ø20mm

SQ.250

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

GL

50

60

SQ.350

4 HOLES Ø23mm 
ON 220mm P.C.D.

ø300

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

65

GL

50

ø400

• All sizes are in mm

99

HOMDEC
Installation Schematics



• Minimum Length of the foundation bolt = 1/6 of the total height of the pole above the ground.

Figure-37

Figure-40

Figure-43

Figure-38

Figure-41

Figure-44

Figure-39

Figure-42

Figure-45

• All sizes are in mm

3 HOLES Ø15mm 
ON 100mm P.C.D.

ø135

FOUNDATION 
BOLT SIZE 1/2” 
BSW 3 NOS.

ø190

GL

25
22

SQ.450

FOUNDATION 
BOLT SIZE 1” 
BSW 4 NOS.SQ.550

SQ
.3

7
0

100

GL

75

4 HOLES Ø30mm 4 HOLES Ø15mm 
ON 195mm P.C.D.

FOUNDATION 
BOLT SIZE 1/2” 
BSW 4 NOS.

ø225

45

GL

25

ø275

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

70

GL

50

SQ.350

SQ.250

SQ
.1

8
0

4 HOLES Ø23mm
4 HOLES Ø23mm

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

70

GL

75

SQ.450

SQ
.2

2
5

SQ.350 4 HOLES Ø18.5mm 
ON 295mm P.C.D.

ø345

FOUNDATION 
BOLT SIZE 5/8” 
BSW 4 NOS.

50

GL

50

ø450

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

100

GL

75

SQ.500

4 HOLES Ø23mm

SQ.400

SQ
.2

8
8

2 HOLES Ø12mm 
ON 90mm P.C.D.

ø150

35

GL

25

FOUNDATION 
BOLT SIZE 3/8” 
BSW 2 NOS.

ø200
FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

65

GL

25

SQ. 400

SQ.350

SQ
.2

6
5

4 HOLES Ø23mm

100

Installation Schematics
HOMDEC



• Minimum Length of the foundation bolt = 1/6 of the total height of the pole above the ground.

Figure-46 Figure-47 Figure-48

Figure-49

• All sizes are in mm

FOUNDATION 
BOLT SIZE 3/8” 
BSW 4 NOS.

25

GL

25

ø165

4 HOLES Ø12mm 
ON 86mm P.C.D.

ø220

4 HOLES Ø10mm 
ON 165mm P.C.D.

ø205

ø255

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

35

GL

25

SQ.200

SQ
.1

6
0

4 HOLES 
Ø16mm

SQ.250

25

GL

25

FOUNDATION 
BOLT SIZE 1/2” 
BSW 4 NOS.

3 HOLES Ø10mm 
ON 106mm P.C.D.

ø135

FOUNDATION 
BOLT SIZE 5/16” 
BSW 3 NOS.

35

GL

25

ø185

Figure-50 Figure-51

100

58

2 HOLES 
Ø12mm

10
0

SQ.150 FOUNDATION 
BOLT SIZE 3/8” 
BSW 2 NOS.

GL

2520

Figure-52

SQ
.2

4
5

4 HOLES 
Ø23 mm

GL

25

65

SQ.400

SQ.300

FOUNDATION 
BOLT SIZE 3/4” 
BSW 4 NOS.

Figure-53

FOUNDATION 
BOLT SIZE 5/16” 
BSW 4 NOS.

GL

25

4 HOLES 
Ø10mm

310x215

30

260

230

16
5

13
5

101

HOMDEC
Installation Schematics

GL

90

58

2 HOLES 
Ø8mm

9
0

FOUNDATION 
BOLT SIZE 1/4” 
BSW 2 NOS.

15

SQ.140

25



102

•	 All dimensions are approximate within tolerable limits. We retain the right to make any changes for further development.
•	 CAD drawings are not to scale.
•	 Lighting fixture doesn’t include the lamp.
•	 While placing an order, please mention the code number and selected colour from the colour range shown above.
•	 Lighting fixtures with customised colours are also supplied on request for bulk orders.
•	 Actual colour shade of the products may vary from the colour shade printed in this catalogue.

Green 
Patina

Antique 
Gold

Green

White Texture 
Black

Rust Patina

Texture GreyBlack Gold SilverDark Brown

Black

Blue

Color Range
HOMDEC



103

HOMDEC
Index

HL-1231	 69
HL-1232	 69
HL-1260	 67
HL-1261	 67
HL-1265	 67
HL-1266	 67
HL-1980	 55
HL-1982	 55
HL-1LP 1051	 78
HL-1LP 1052	 78
HL-1LP 1053	 77
HL-1LP 1054	 77
HL-1LP 1180	 76
HL-1LP 1200	 77
HL-1LP 1201	 76
HL-1LP 1205	 76
HL-1LP 1208	 77
HL-2060 A	 79
HL-2060 B	 79
HL-2062 A	 79
HL-2062 B	 79
HL-2065 A	 80
HL-2065 B	 80
HL-2068 A	 79
HL-2068 B	 79
HL-2090 A	 78
HL-2090 B	 78
HL-2092 A	 79
HL-2092 B	 79
HL-2095 A	 80
HL-2095 B	 80
HL-2098 A	 80
HL-2098 B	 80
HL-2100	 39
HL-2210	 81
HL-2215	 81
HL-2220 A	 81
HL-2220 B	 81
HL-2225	 81
HL-2230	 81
HL-2235	 81
HL-2240	 81
HL-2245	 81
HL-2250 A	 81
HL-2250 B	 81
HL-2251	 84
HL-2252	 75
HL-2254	 75
HL-2255	 81
HL-2256	 84
HL-2257	 82
HL-2260	 82
HL-2261	 82
HL-2265	 82
HL-2266	 82
HL-2267	 75
HL-2269	 84
HL-2271	 74
HL-2272	 74
HL-2273	 74
HL-2274	 74
HL-2277	 84
HL-2278	 84
HL-2281	 74
HL-2285	 75
HL-2286	 83

HL-2961	 34
HL-2963	 25
HL-2964	 26
HL-2965	 41
HL-2967	 28
HL-2968	 29
HL-2969	 37
HL-2970	 36
HL-2971	 35
HL-2972	 59
HL-2975	 60
HL-2975	 60
HL-2976	 32
HL-2980	 84
HL-2981	 58
HL-2982	 55
HL-2984	 55
HL-2986	 58
HL-2987	 60
HL-2988	 59
HL-2991	 60
HL-2995	 58
HL-2997	 84
HL-2998	 31
HL-2LP 1051	 78
HL-2LP 1052	 78
HL-2LP 1053	 77
HL-2LP 1054	 77
HL-2LP 1180	 76
HL-2LP 1200	 77
HL-2LP 1201	 76
HL-2LP 1205	 76
HL-2LP 1208	 77
HL-2LPM-2982	 55
HL-3005	 87
HL-3010	 87
HL-3015	 87
HL-3020	 86
HL-3025	 86
HL-3030	 87
HL-3035	 87
HL-3040	 87
HL-3050	 87
HL-3055	 86
HL-3064	 86
HL-3087	 88
HL-3091	 86
HL-3092	 86
HL-3095	 68
HL-3096	 88
HL-3107	 86
HL-3111	 88
HL-3112	 88
HL-3116	 86
HL-3117	 86
HL-3118	 88
HL-3119	 88
HL-3120	 88
HL-3126	 88
HL-3127	 88
HL-4001	 70
HL-4002	 70
HL-4005	 70
HL-4006	 70
HL-4007	 70
HL-4015	 70

HL-1015	 67
HL-1019	 68
HL-1021	 68
HL-1041	 68
HL-1042	 68
HL-1045	 64
HL-1051	 65
HL-1052	 65
HL-1053	 65
HL-1054	 65
HL-1055	 64
HL-1056	 67
HL-1060	 62
HL-1065	 62
HL-1070	 62
HL-1075	 67
HL-1080	 62
HL-1085	 62
HL-1088	 62
HL-1090	 62
HL-1095	 62
HL-1115	 64
HL-1120	 63
HL-1130	 63
HL-1140	 64
HL-1145	 64
HL-1151	 71
HL-1153	 72
HL-1154	 71
HL-1156	 72
HL-1158	 72
HL-1159	 72
HL-1160	 63
HL-1164	 71
HL-1170	 63
HL-1173	 71
HL-1174	 71
HL-1177	 72
HL-1178	 72
HL-1179	 72
HL-1180	 65
HL-1185	 63
HL-1190	 64
HL-1191	 64
HL-1192	 64
HL-1193	 63
HL-1194	 64
HL-1195	 63
HL-1196	 63
HL-1197	 64
HL-1198	 64
HL-1199	 64
HL-1200	 65
HL-1201	 65
HL-1205	 65
HL-1208	 65
HL-1216	 69
HL-1217	 69
HL-1219	 68
HL-1220	 68
HL-1222	 67
HL-1223	 69
HL-1224	 69
HL-1226	 69
HL-1227	 69
HL-1228	 69

HL-2287	 83
HL-2288	 83
HL-2289	 83
HL-2290	 81
HL-2291	 81
HL-2292	 83
HL-2294	 74
HL-2295 A	 75
HL-2295 B	 75
HL-2296	 75
HL-2297	 75
HL-2298	 82
HL-2299	 74
HL-2305	 59
HL-2306	 59
HL-2308	 57
HL-2311	 57
HL-2312	 57
HL-2316	 58
HL-2317	 58
HL-2319	 58
HL-2321	 19
HL-2322	 59
HL-2323	 60
HL-2324	 60
HL-2326	 60
HL-2327	 60
HL-2328	 60
HL-2753	 57
HL-2755	 54
HL-2758	 54
HL-2760	 54
HL-2762	 54
HL-2765	 54
HL-2768	 54
HL-2770	 54
HL-2772	 54
HL-2775	 53
HL-2778	 53
HL-2785	 53
HL-2806	 58
HL-2812	 19
HL-2813	 10
HL-2824	 45
HL-2825	 38
HL-2831	 49
HL-2832	 50
HL-2833	 51
HL-2834	 44
HL-2835	 57
HL-2837	 33
HL-2838	 24
HL-2855	 22
HL-2865	 53
HL-2880	 43
HL-2883	 48
HL-2916	 82
HL-2921	 59
HL-2922	 59
HL-2923	 57
HL-2924	 57
HL-2928	 59
HL-2951	 60
HL-2955	 27
HL-2956	 30
HL-2959	 42

HL-4019	 70
HL-4020	 70
HL-MSP-209	 90
HL-MSP-214	 90
HL-MSP-223	 91
HL-MSP-223-2975	 40
HL-MSP-225	 90
HL-MSP-225-2311	 15
HL-MSP-225-2922	 20
HL-MSP-225-2988	 18
HL-MSP-228	 90
HL-MSP-228-2921	 21
HL-MSP-229	 90
HL-MSP-229-2972	 23
HL-MSP-232	 90
HL-MSP-233	 91
HL-MSP-233-2305	 9
HL-MSP-233-2306	 17
HL-MSP-233-2308	 16
HL-MSP-233-2312	 7
HL-MSP-233-2316	 8
HL-MSP-233-2317	 12
HL-MSP-233-2319	 5
HL-MSP-233-2806	 13
HL-MSP-233-2987	 47
HL-MSP-233-2991	 46
HL-MSP-241	 91
HL-MSP-241-2986	 14
HL-MSP-241-2995	 6
HL-MSP-244	 91
HL-MSP-248	 91
HL-MSP-249	 91
HL-MSP-250	 91
HL-MSP-228-2981	 11
H-PBKT-102-1	 92
H-PBKT-102-2	 92
H-PBKT-108-1	 92
H-PBKT-108-2	 92
H-PBKT-120-1	 92
H-PBKT-120-2	 92
H-PBKT-121-1	 93
H-PBKT-121-2	 93
H-PBKT-126-1	 93
H-PBKT-126-2	 93
H-PBKT-128-1	 93
H-PBKT-128-2	 93
H-PBKT-129-1	 93
H-PBKT-129-2	 93
H-PBKT-130-1	 93
H-PBKT-130-2	 93
H-PBKT-134-1	 93
H-PBKT-134-2	 93
H-PBKT-140-1	 94
H-PBKT-140-2	 94
H-PBKT-141-1	 94
H-PBKT-141-2	 94
H-PBKT-142-1	 94
H-PBKT-142-2	 94
H-PBKT-143-1	 94
H-PBKT-143-2	 94
H-PBKT-144-1	 94
H-PBKT-144-2	 94
H-PBKT-145-1	 94
H-PBKT-145-2	 94

ITEM NO.	 PAGE NO. ITEM NO.	 PAGE NO. ITEM NO.	 PAGE NO. ITEM NO.	 PAGE NO. ITEM NO.	 PAGE NO.



Homdec Lighting (India) Pvt. Ltd.

56/34, Site-IV Industrial Area, Sahibabad,  
Ghaziabad - 201 010, Uttar Pradesh (India) 
•  tel.: +91-120-6486068   
•  telefax: +91-120-2896104   
•  email: info@homdeclighting.com   
•  website: www.homdeclighting.com

An ISO-9001:2008 company

© Copyright Reserved.

Homdec offers world-class quality products that are ‘Made-in-India’.  
An advantage of customised designs, materials and colours to suit your varied requirements.  
Decorate your spaces with Homdec.


